

$$f_{j,m}(x,y) = \frac{x^{j+m} y^{j-m}}{[(j+m)! (j-m)!]^{1/2}} \quad \begin{cases} 0 \leq j \\ -j \leq m \leq j \end{cases}$$

Gerrit C. Groenenboom

definiëer lineaire ruimte met basis $\{f_{j,m}, j=0, 1, 2, \dots; m=-j, -j+1, \dots, j\}$
in product

~~$$\langle f_{j,m} | f_{j',m'} \rangle = \int \dots$$~~

$$\langle j,m | j',m' \rangle = \delta_{jj'} \delta_{mm'}$$

operatoren

SYMMETRY OF
 $d_{m'm}^j(l^2)$

$$\begin{aligned} \hat{j}_x &\equiv \frac{1}{2} (x \frac{\partial}{\partial y} + y \frac{\partial}{\partial x}) \\ \hat{j}_y &\equiv \frac{1}{2i} (x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x}) \\ \hat{j}_z &\equiv \frac{1}{2} (x \frac{\partial}{\partial x} - y \frac{\partial}{\partial y}) \end{aligned}$$

$$\begin{aligned} [\hat{j}_x, \hat{j}_y] &= \frac{1}{4i} [x \frac{\partial}{\partial y} + y \frac{\partial}{\partial x}, x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x}] \\ &= \frac{1}{4i} \{ -[x \frac{\partial}{\partial y}, y \frac{\partial}{\partial x}] + [y \frac{\partial}{\partial x}, x \frac{\partial}{\partial y}] \} \\ &= \frac{1}{4i} \{ - (y [x, \frac{\partial}{\partial x}] \frac{\partial}{\partial y} + x [\frac{\partial}{\partial y}, y] \frac{\partial}{\partial x}) + x [y, \frac{\partial}{\partial y}] \frac{\partial}{\partial x} + y [\frac{\partial}{\partial x}, x] \frac{\partial}{\partial y} \} \\ &= \frac{1}{4i} \{ 2y \frac{\partial}{\partial y} - 2x \frac{\partial}{\partial x} \} = i \cdot \frac{1}{2} (x \frac{\partial}{\partial x} - y \frac{\partial}{\partial y}) = i \hat{j}_z \end{aligned}$$

$$\begin{aligned} [\hat{j}_y, \hat{j}_z] &= \frac{1}{4i} [x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x}, x \frac{\partial}{\partial x} - y \frac{\partial}{\partial y}] \\ &= \frac{1}{4i} \{ [x \frac{\partial}{\partial y}, x \frac{\partial}{\partial x}] - [x \frac{\partial}{\partial y}, y \frac{\partial}{\partial y}] - [y \frac{\partial}{\partial x}, x \frac{\partial}{\partial x}] + [y \frac{\partial}{\partial x}, y \frac{\partial}{\partial y}] \} \\ &= \frac{1}{4i} \{ x [x, \frac{\partial}{\partial x}] \frac{\partial}{\partial y} - x [\frac{\partial}{\partial y}, y] \frac{\partial}{\partial y} - y [\frac{\partial}{\partial x}, x] \frac{\partial}{\partial x} + y [y, \frac{\partial}{\partial y}] \frac{\partial}{\partial x} \} \\ &= \frac{1}{4i} \{ -x \frac{\partial}{\partial y} - x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x} - y \frac{\partial}{\partial x} \} = i \cdot \frac{1}{2} (x \frac{\partial}{\partial y} + y \frac{\partial}{\partial x}) = i \hat{j}_x \end{aligned}$$

$$\begin{aligned} [\hat{j}_z, \hat{j}_x] &= \frac{1}{4} [x \frac{\partial}{\partial x} - y \frac{\partial}{\partial y}, x \frac{\partial}{\partial y} + y \frac{\partial}{\partial x}] \\ &= \frac{1}{4} \{ [x \frac{\partial}{\partial x}, x \frac{\partial}{\partial y}] + [x \frac{\partial}{\partial x}, y \frac{\partial}{\partial x}] - [y \frac{\partial}{\partial y}, x \frac{\partial}{\partial y}] - [y \frac{\partial}{\partial y}, y \frac{\partial}{\partial x}] \} \\ &= \frac{1}{4} \{ x [\frac{\partial}{\partial x}, x] \frac{\partial}{\partial y} + y [\frac{\partial}{\partial x}, x] \frac{\partial}{\partial x} - x [y, \frac{\partial}{\partial y}] \frac{\partial}{\partial y} - y [\frac{\partial}{\partial y}, y] \frac{\partial}{\partial x} \} \\ &= \frac{1}{4} \{ x \frac{\partial}{\partial y} + y \frac{\partial}{\partial x} + x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x} \} = i \cdot \frac{1}{2} (x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x}) = i \hat{j}_y \end{aligned}$$

$$\hat{j}_+ \equiv \hat{j}_x + i \hat{j}_y = x \frac{\partial}{\partial y}$$

$$\hat{j}_- \equiv \hat{j}_x - i \hat{j}_y = y \frac{\partial}{\partial x}$$

$$\begin{aligned} \hat{J}_z f_{j,m}(x,y) &= \frac{1}{2} (x \frac{\partial}{\partial x} - y \frac{\partial}{\partial y}) \frac{x^{j+m} y^{j-m}}{[(j+m)!(j-m)!]^{1/2}} \\ &= \frac{1}{2} (j+m - (j-m)) \frac{x^{j+m} y^{j-m}}{[(j+m)!(j-m)!]^{1/2}} \\ &= m f_{j,m}(x,y) \end{aligned}$$

$$\begin{aligned} \hat{J}_+ f_{j,m}(x,y) &= x \frac{\partial}{\partial y} \frac{x^{j+m} y^{j-m}}{[(j+m)!(j-m)!]^{1/2}} \\ &= (j-m) \frac{x^{j+m+1} y^{j-m-1}}{[(j+m)!(j-m)!]^{1/2}} \\ &= \sqrt{(j+m+1)(j-m)} \frac{x^{j+m+1} y^{j-m-1}}{[(j+m+1)!(j-m-1)!]^{1/2}} \end{aligned}$$

$$= C_{j,m}^+ f_{j,m+1}(x,y) \quad \text{op m } C_{j,j}^+ = 0 \quad (f_{j,j+1} = 0)$$

$$\begin{aligned} \hat{J}_- f_{j,m}(x,y) &= y \frac{\partial}{\partial x} \frac{x^{j+m} y^{j-m}}{[(j+m)!(j-m)!]^{1/2}} \\ &= (j+m) \frac{x^{j+m-1} y^{j-m+1}}{[(j+m)!(j-m)!]^{1/2}} \\ &= \sqrt{(j+m)(j-m+1)} \frac{x^{j+m-1} y^{j-m+1}}{[(j+m-1)!(j-m+1)!]^{1/2}} \end{aligned}$$

$$= C_{j,m}^- f_{j,m-1}(x,y) \quad [(j+m)(j-m+1) = j^2 - m^2 + j + m = j(j+1) - m(m-1)]$$

$$J^2 = J_x^2 + J_y^2 + J_z^2 = \frac{1}{2}(J_+ J_- + J_- J_+) + J_z^2$$

$$\begin{aligned} J^2 |j,m\rangle &= [C_{j,m-1}^+ C_{j,m}^- - m + m^2] |j,m\rangle \\ &= [\sqrt{j(j+1) - m(m-1)} \sqrt{j(j+1) - m(m-1)} - m + m^2] |j,m\rangle = j(j+1) |j,m\rangle \end{aligned}$$

$j = 1/2$, basis $\{ |1/2, 1/2\rangle, |1/2, -1/2\rangle \}$

$$\langle 1/2, 1/2 | J_+ |1/2, -1/2\rangle = C_{1/2, -1/2}^+ = \sqrt{1/2(1/2+1) - (-1/2)(-1/2+1)} = 1; \quad J_+ = \begin{bmatrix} 0 & 1 \\ 0 & 0 \end{bmatrix}^{1/2}$$

$$\langle 1/2, -1/2 | J_- |1/2, 1/2\rangle = C_{1/2, 1/2}^- = \sqrt{1/2(1/2+1) - 1/2(1/2-1)} = 1; \quad J_- = \begin{bmatrix} 0 & 0 \\ 1 & 0 \end{bmatrix}$$

$$J_y = \frac{1}{2i} (J_+ - J_-) = \frac{1}{2i} \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix}$$

$$D(\alpha, \beta, \gamma) = e^{-i\alpha \hat{J}_z^{(j)}} e^{-i\beta \hat{J}_y^{(j)}} e^{-i\gamma \hat{J}_z^{(j)}}$$

$$\langle j, m' | D(\alpha, \beta, \gamma) | j, m \rangle = e^{-i\alpha m'} d_{m'm}^j(\beta) e^{-i\gamma m}$$

$$d_{m'm}^{(j)} = e^{-i\beta \hat{J}_y^{(j)}}$$

$$d_{m'm}^{(j)} = e^M ; M = -i\beta \frac{1}{2i} \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} = \frac{\beta}{2} \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix}$$

$$M^2 = -\left(\frac{\beta}{2}\right)^2 \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} \rightarrow M^{2n} = (-1)^n \left(\frac{\beta}{2}\right)^{2n} \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}$$

$$M^{2n+1} = \frac{\beta}{2} \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} (-1)^n \left(\frac{\beta}{2}\right)^{2n} \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}$$

$$= (-1)^n \left(\frac{\beta}{2}\right)^{2n+1} \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix}$$

$$e^M = \sum_{n=0}^{\infty} \frac{1}{n!} M^n = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} \sum_{n=0}^{\infty} \frac{(-1)^n \left(\frac{\beta}{2}\right)^{2n}}{n!} + \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} \sum_{n=0}^{\infty} \frac{(-1)^n \left(\frac{\beta}{2}\right)^{2n+1}}{n!}$$

$$= \begin{bmatrix} \cos \frac{\beta}{2} & -\sin \frac{\beta}{2} \\ \sin \frac{\beta}{2} & \cos \frac{\beta}{2} \end{bmatrix}$$

$$\hat{J}_y (f \cdot g) = \frac{1}{2i} \left(x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x} \right) (f \cdot g)$$

$$= \left\{ \left(\frac{1}{2i} x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x} \right) f \right\} g + f \left\{ \frac{1}{2i} \left(x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x} \right) g \right\}$$

$$= (\hat{J}_y f) \cdot g + f (\hat{J}_y g)$$

$$\hat{J}_y^n (f \cdot g) = \sum_{k=0}^n \binom{n}{k} (\hat{J}_y^k f) (\hat{J}_y^{n-k} g)$$

$$A = -\beta \hat{J}_y \Rightarrow A^n (f \cdot g) = \sum_{k=0}^n \binom{n}{k} (A^k f) (A^{n-k} g)$$

$$e^A f \cdot g = \sum_{n=0}^{\infty} \frac{1}{n!} A^n (f \cdot g) = \sum_{n=0}^{\infty} \frac{1}{n!} \sum_{k=0}^n \binom{n}{k} (A^k f) \cdot A^{n-k} g$$

$$(e^A f) (e^A g) = \left\{ \sum_{i=0}^{\infty} \frac{1}{i!} A^i f \right\} \left\{ \sum_{j=0}^{\infty} \frac{1}{j!} A^j g \right\}$$

$$= \sum_{n=0}^{\infty} \sum_{i=0}^n \left\{ \frac{1}{i!} A^i f \right\} \frac{1}{(n-i)!} A^{n-i} g$$

$$= \sum_{n=0}^{\infty} \frac{1}{n!} \sum_{k=0}^n \frac{n!}{k!(n-k)!} (A^k f) (A^{n-k} g) = e^A (f \cdot g)$$

$$e^A f \cdot g \cdot h = (e^A f) (e^A g) (e^A h) \text{ etc}$$

$$| \psi_1 \psi_2 \rangle = \frac{x^{\psi_1 + 1/2} y^{\psi_2 - 1/2}}{[(\psi_1 + 1/2)! (\psi_2 - 1/2)!]^{1/2}} \psi_2 = x$$

$$| \psi_1 - \psi_2 \rangle = y$$

$$\begin{cases} e^{-ip\psi_1} x = \cos \frac{\rho}{2} x + \sin \frac{\rho}{2} y \\ e^{-ip\psi_2} y = -\sin \frac{\rho}{2} x + \cos \frac{\rho}{2} y \end{cases}$$

$$D(\rho, 0) |j, m\rangle = \sum_{m'} |j, m'\rangle \langle j, m' | D(\rho, 0) |j, m\rangle$$

$$= \sum_{m'} |j, m'\rangle D_{m'm}^j(\rho, \beta, \gamma)$$

$$= \sum_{m'} |j, m'\rangle d_{m'm}^j(\rho)$$

$$e^{-ip\psi_1} f_{j,m}(x, y) = e^{-ip\psi_2} \frac{x^{j+m} y^{j-m}}{[(j+m)! (j-m)!]^{1/2}}$$

$$= \frac{\left\{ e^{-ip\psi_1} x \right\}^{j+m} \left\{ e^{-ip\psi_2} y \right\}^{j-m}}{[(j+m)! (j-m)!]^{1/2}}$$

$$= \frac{\left(\cos \frac{\rho}{2} x + \sin \frac{\rho}{2} y \right)^{j+m} \left(-\sin \frac{\rho}{2} x + \cos \frac{\rho}{2} y \right)^{j-m}}{[(j+m)! (j-m)!]^{1/2}}$$

$$= \sum_{m'} \frac{x^{j+m'} y^{j-m'}}{[(j+m')! (j-m')!]^{1/2}} d_{m'm}^j(\rho)$$

Symmetry

$$D(0, \pi, 0) |j, m\rangle = (-1)^{j-m} \frac{y^{j+m} x^{j-m}}{[(j+m)! (j-m)!]^{1/2}} = (-1)^{j-m} |j, -m\rangle$$

$$d_{m'm}^j(\pi) = (-1)^{j-m} \langle j, m' | j, -m \rangle = (-1)^{j-m} \delta_{m', -m} = (-1)^{j+m'} \delta_{m', -m}$$

$$D(0, -\pi, 0) |j, m\rangle = (-1)^{j+m} \frac{y^{j+m} x^{j-m}}{[(j+m)! (j-m)!]^{1/2}} = (-1)^{j+m} |j, -m\rangle$$

$$d_{m'm}^j(-\pi) = (-1)^{j+m} \delta_{m', -m}$$

Unitary + real \rightarrow orthonormal

$$R^j = R^{jT}$$

$$d_{m'm}^j(-\rho) = d_{m'm}^j(\rho)$$

$$d_{m'm}^j(\pi) = (-1)^{j-m} \delta_{m',-m}$$

$$d_{m'm}^j(-\pi) = (-1)^{j+m} \delta_{m',-m}$$

$$d_{m'm}^j(\alpha) = \sum_{\nu} d_{m'\nu}^j(\alpha) d_{\nu m}^j(-\alpha)$$

$$= \sum_{\nu} (-1)^{j-\nu} \delta_{m',-\nu} (-1)^{j+m} \delta_{\nu,-m}$$

$$= (-1)^{2(j+m)} \delta_{m',m} = \delta_{m',m}$$

$$d_{m'm}^j(\pi-\rho) = \sum_{\nu} d_{m'\nu}^j(\pi) d_{\nu m}^j(-\rho)$$

$$= \sum_{\nu} (-1)^{j-\nu} \delta_{m',-\nu} d_{\nu m}^j(\rho)$$

$$= (-1)^{j+m'} d_{m,-m'}^j(\rho)$$

$$d_{m'm}^j(\pi+\rho) = \sum_{\nu} d_{m'\nu}^j(\pi) d_{\nu m}^j(\rho)$$

$$= \sum_{\nu} (-1)^{j-\nu} \delta_{m',-\nu} d_{\nu m}^j(\rho) = (-1)^{j+m'} d_{-m',m}^j(\rho)$$

$$d_{m'm}^j(\rho) = (-1)^{j+m'} d_{m,-m'}^j(\pi-\rho)$$

$$= (-1)^{j+m'} (-1)^{j+m} d_{-m',m}^j(\rho)$$

$$= (-1)^{2j+m+m'} d_{-m',m}^j(\rho)$$

$$= (-1)^{m'-m} d_{-m',-m}^j(\rho)$$

PF: $d_{m'm}^j(\rho) = d_{-m',-m'}^j(\rho) = (-1)^{m'-m} d_{m,m'}^j(\rho)$

$$d_{m'm}^j(\pi+\rho) = (-1)^{j+m'} d_{-m',m}^j(\rho) \Rightarrow d_{-m',m}^j(\rho) = (-1)^{j+m'} d_{m'm}^j(\pi+\rho)$$

$$d_{m'm}^j(\pi-\rho) = (-1)^{j+m'} d_{m,-m'}^j(\rho) \quad (\text{Zur 2.75}) \quad d_{m',m}^j(\rho) = (-1)^{j-m'} d_{-m',m}^j(\pi+\rho)$$

$$= (-1)^{j+m'} d_{m',-m}^j(\rho) \quad (\text{Zur 2.75}) \quad = (-1)^{j-m'} (-1)^{-m'-m} d_{m',-m}^j(\pi+\rho)$$

$$d_{m'm}^j(\rho) = (-1)^{j+m'} (-1)^{m'+m} d_{-m',m}^j(\rho)$$

$$= (-1)^{j+m} d_{m',-m}^j(\pi+\rho)$$

$d_{m'm}^j(\pi-\rho) = (-1)^{j-m} d_{-m',m}^j(\rho) = (-1)^{j+m'} d_{m',-m}^j(\rho)$

$$e^{-i\beta^z y} |j, m\rangle = \frac{(\cos \frac{\beta}{2} x + \sin \frac{\beta}{2} y)^{j+m} (-\sin \frac{\beta}{2} x + \cos \frac{\beta}{2} y)^{j-m}}{[(j+m)!(j-m)!]^{1/2}}$$

⑦
122/61998

$$= \sum_{m'} \frac{x^{j+m'} y^{j-m'}}{[(j+m')!(j-m')!]^{1/2}} d_{m'm}^j(\beta)$$

$$\sum_{k=0}^{j+m} \binom{j+m}{k} (\cos \frac{\beta}{2} x)^{j+m-k} (\sin \frac{\beta}{2} y)^k$$

$$\times \sum_{l=0}^{j-m} \binom{j-m}{l} (-\sin \frac{\beta}{2} x)^l (\cos \frac{\beta}{2} y)^{j-m-l}$$

$$= \sum_{m'} \frac{x^{j+m'} y^{j-m'}}{[(j+m')!(j-m')!]^{1/2}} d_{m'm}^j(\beta) [(j+m)!(j-m)!]^{1/2}$$

$$j+m-k+l = j+m'$$

$$l = m'-m+k$$

$$j+m-k+j-m-m'+m-k = 2j+m-m'$$

$$\sum_{k=0}^{j+m} \binom{j+m}{k} (\cos \frac{\beta}{2})^{j+m-k} (\sin \frac{\beta}{2})^{m'-m+k} (-1)^{m'-m+k} (\sin \frac{\beta}{2})^k (\cos \frac{\beta}{2})^{j-m-(m'-m+k)}$$

$$\binom{j-m}{m'-m+k} x^{j+m-k+m'-m+k} y^{k+j-m-(m'-m+k)}$$

$$= \sum_{k=0}^{j+m} \binom{j+m}{k} \binom{j-m}{m'-m+k} (-1)^{m'-m+k} (\sin \frac{\beta}{2})^{m'-m+k} (\cos \frac{\beta}{2})^{2j+m-m'-2k} x^{j+m'} y^{j-m'}$$

$$= \sum_{m'} \frac{x^{j+m'} y^{j-m'}}{[(j+m')!(j-m')!]^{1/2}} d_{m'm}^j(\beta) [(j+m)!(j-m)!]^{1/2}$$

$$d_{m'm}^j(\beta) = \left[\frac{(j+m)!(j-m)!}{(j+m')!(j-m')!} \right]^{1/2} \sum_{k=0}^{j+m} \binom{j+m}{k} \binom{j-m}{m'-m+k} (-1)^{m'-m+k} (\sin \frac{\beta}{2})^{m'-m+k} (\cos \frac{\beta}{2})^{2j+m-m'-2k}$$

$$= \left[\frac{(j+m)!(j-m)!}{(j+m')!(j-m')!} \right]^{1/2} \sum_{k=0}^{j+m} \frac{(-1)^{m'-m+k} (\sin \frac{\beta}{2})^{m'-m+k} (\cos \frac{\beta}{2})^{2j+m-m'-2k}}{k! (j+m-k)! (m'-m+k)! (j-m'-k)!}$$

thus $d_{m'm}^j(\beta) = d_{-m, -m'}^j(\beta)$

$$\begin{cases} m \rightarrow -m' \\ m' \rightarrow -m \\ m-m' = m-m' \end{cases}$$

Alternative derivation of symmetry relation

(D) C

$$d_{m'm}^{j_1}(P) = (-1)^{m-m'} d_{mm'}^{j_1}(P)$$

$$D^T(R_2^T(\pi) R_2(\alpha, \beta, \gamma) R_2(\pi))$$

$$R_2^T(\pi) R_2(\alpha) R_Y(\beta) R_2(\gamma) R_2(\pi) = R_2(\alpha+\pi) R_Y(\beta) R_2(\gamma+\pi)$$

$$= R_2(\alpha) R_2(\pi) R_Y(\beta) R_2(\pi) R_2(\gamma)$$

$$= R_2(\alpha) R_2(\pi) R_2(\pi) R_Y(-\beta) R_2(\gamma) = R_2(\alpha) R_Y(-\beta) R_2(\gamma)$$

den $D(-\pi, 0, 0) D(\alpha, \beta, \gamma) D(0, 0, \pi) = D(\alpha, -\beta, \gamma)$

$$\sum_{\mu, \mu'} D_{\mu' \mu}^{j_1}(-\pi, 0, 0) D_{\mu \mu'}^{j_1}(\alpha, \beta, \gamma) D_{\mu, \mu'}^{j_1}(0, 0, \pi) = D_{m' m}^{j_1}(\alpha, -\beta, \gamma)$$

$$\sum_{\mu, \mu'} e^{i m' \pi} \delta_{\mu' \mu} D_{\mu \mu'}^{j_1}(\alpha, \beta, \gamma) \delta_{\mu, m} e^{-i m \pi} = D_{m' m}^{j_1}(\alpha, -\beta, \gamma)$$

$$(-1)^{m'-m} D_{m' m}^{j_1}(\alpha, \beta, \gamma) = D_{m' m}^{j_1}(\alpha, -\beta, \gamma)$$

$$(-1)^{m'-m} d_{m' m}^{j_1}(P) = d_{m' m}^{j_1}(-P) = d_{m m'}^{j_1}(P)$$

$$d_{m' m}^{j_1}(P) = (-1)^{m'-m} d_{m m'}^{j_1}(P) \quad \text{q. e. d.}$$

summary

$$d_{m' m}^{j_1}(\pi - \beta) = (-1)^{j_1 - m'} d_{m, m'}^{j_1}(\beta) = (-1)^{j_1 - m'} d_{-m', m}^{j_1}(\beta) d_{m', -m}^{j_1}(\beta)$$

$$d_{m' m}^{j_1}(\pi + \beta) = (-1)^{j_1 - m'} d_{-m', m}^{j_1}(\beta)$$

$$d_{m' m}^{j_1}(\beta) = (-1)^{m'-m} d_{-m', -m}^{j_1}(\beta)$$

$$d_{m' m}^{j_1}(\beta) = (-1)^{m'-m} d_{m, m'}^{j_1}(\beta)$$

$$d_{m' m}^{j_1}(\beta) = d_{-m', -m}^{j_1}(\beta)$$

$$d_{m' m}^{j_1}(-\beta) = d_{m m'}^{j_1}(\beta) = (-1)^{m-m'} d_{m' m}^{j_1}(\beta) = d_{-m', -m}^{j_1}(\beta)$$

$$\downarrow$$

$$(-1)^{j_1 - m'} d_{-m', m}^{j_1}(\beta) = (-1)^{j_1 - m}$$

inverse:

$$Y_{l, m}(\pi - \theta, \varphi) = (-1)^m Y_{l, -m}(\theta, \varphi)$$

$$Y_{l, m}(\pi - \theta, \varphi) = (-1)^m Y_{l, m}(\theta, \varphi)$$

$$Y_{l, m}(\theta, \varphi) = (-1)^m Y_{l, -m}(\theta, \varphi)$$

omwisselen